I

126. A person invested Rs.12,‘000 in a fixed deposit scheme for 2 years at the

~ rate of 5% compound interest. How much amount will be got on maturig,

of the fixed deposit? 120004 105 1 S _\1230
. ) '\’E—- -
(A) Rs.13,200
| ’ | @Y
(B) Rs.13,430 | 25}; A S "5}_ 606
b J 50
AP Rs.13,230  fooR 5. 1y V- o
_ 1#7 N- ‘7_}0
(D) Rs.12,600 | _
| | A~ fev01220
(E) Ans tk _ '
wer_‘ no nown :> \S‘Z}O

/

Qe . 12,000 8 5% sl Beuly ddssdd 2 yaThsErss Hrbsy ey
Sl sde Qegisgdprr. Aobsr ey wiey @‘Q,H'GO')-SSUJH&S_ 6T eTeuGUeTey

Qumpeumft?

(A) . 13,200
(B) . 13,430
(C)- . 13,230
D) . 12,600

(E) oo Qsfwedranay
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-1 g g
_ height 1s 24 m. Calculat
: . 1 tent is 700 cm and the : ' ¢
136. The radius of a conical te — ke the tent if the width of the

th f the canvas used to ma
e length of the To->4 Ny = CSPA @L:“ﬂ

rectangular canvas is 4 m. 2) =~ K&0

)
% 1375m  As | B) 1375m g s

- X930k -
(C) 1.375m S = s (D) 1.037m - $%0

(E) Answer not known

fgsrenans G]a;rr%&m@ 700 Q&8 repd 24 5 2 WrEPD 2@ @ &by aiyq),
FaL_MILD a@eunégasuu@éﬂmgd. CFcueus 6ligals @55”@6“ s 4.5 aafle Si&en

Bard smers.

(&) 13758 (B 13754
(€) 1.375. D) 1.037 8

(E) &feL Ggflweldama

137. Find the next number :
fol\ 2\

1,2, 6, 24, 120, ? V2 2
(A) 135 | | (B) 146 2457
&) 720 - (D) 438 . 2‘::‘;%;
(E) Answer not known : \z”l{ ~. 20
SIHES TS SMeRTs : T

' 1,2,6,24,120, ?
(A) 135 , (B) 146
©) 1720 (D) 438
(E) oflanr @grﬂuam@m
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o fxiy=2:1, then (x2 ) )=(x2+y2)1s N 78}
. q L Y

() 5:3 B) 1:3

©) FBL | —P) 3:5

(E) Answer not known

x:y=2:1 erafle (x2 —yz): (x2 +y2) GTeTLIg)
(A) 5: 3 | (B) 1:3
© 3:1 - (D) 3:5
(E) eflenL Gg,rﬂu_;aﬂmmeo |

Kumaran bought a ramcoat and saved Rs. 25 with discount of 20%.

139.
What was the orlgl a?prlce of the raincoat? ~ o %6_' - 2%
Rs. 125 %14 - | (B) Rs. 250
@) i Alxs = - pEAVAY
(C) Rs. 175 ‘T (D) Rs. 150 -

(E) Answer not known

Gwrenr 20% ser@EpURWLET 6(H QrlenCaman eumdl em. 25 epw G&Lﬂgg,nﬁ
aafle, QruienGamigen g efloma ereme ?

A) . 125 | (B) em. 250

C) e 175 | (D) ¢m. 150

(B) e QsMwaeildane |
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140. If A=1,B=2,C=3,...Z2=26 then L.C.M. of H,C,F is not equal to

419
A X = 2h - (B) E+S -7
ARS8 \ A3R S
A+C+H =\L (D) AxCxH =2k

(E) Answer not known

A=1,B=2CC=38,...2=26 aas Qarar_me H,C,F-ar 8.4.0 T8

smﬁ]sbm_su?
A X - (B) E+8
C) AyC+H ’ (D) AxCxH

(E) ofen Qzflweldea

141. Find the value of y5+v5+5.... - <
@4) 5° | ®
© & ) 5

(E) Answer not known

]'l
v

iy srans O 545....
© 5 . | O 5

() oL Osfucidame
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v
142- How many great circles can a‘hemisphefe have?

@ 1 . | ®) 0

| M uncountable D) 2

| (E) Answer not known
80 é\lmUéiaC_Sasrrmgﬁeb 3100 (NTRT O LSDG]LI@ QUL L g at e ammﬂgmg; CTHBDE ?
@ 1 l B) 0 |
(C) eramemppency | D) 2

(E) oo Opflueliens

5
U
143. Find the volume of a cylinder whose height is 4 m and whose bas€ area
' is 500 m2. ‘f © Cybody Voluae vl
~1A) 2000 m? | B) 2500 m? VLY
_ - ' ~ Jooo
(©) 2100 m? | D) 2700 m?

(E) Answer not known

o wgd 4 S whHmb Sigluriy 500 #..5 Qsram_ @ 2 (heneTudlan SHETeTam6s

STEHTS.
(A) 2000 83 (B) 2500 £° |
©) 2100 £ | D) 2700 £

(E) oflenr Qsflwueiidveme
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)4 A
144. If 3x m then x: y is ('l)("f L‘j) AY’ :(M*GJ) D(%
.

B) 1:4 1‘3174&3 ~ AbXy €09

1:2
/f(j? g1 - (D) 3:1 Lﬁi:z‘j
(E) Answer not known 29- o
3x +4y:4x +6y=22:32 aaflléd x:y eernigl 4 2
A 1:2 (B) 1:4 XYzl
© 2:1 D) 3:1

(E) &9en Glg,rﬂuJaﬂd)smm

145. If the two numbers a and b are in the ratio m:n. Then the LCM of

a and b is
(A) ma
(B) nbd
(C) mb

AP ab

(E) Answer not known
a whmd b erergud @ eamadt m:n aa@ib dssile @mwbgleTeTeT arafled

a womb b Wer B.Aum.w g ?

(A) ma
(B) nb
(C) mbd
(D) abd

(E) &len Qsflweldwvana
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" 5 , | tthe end? ’1,_ \ow =~ \ot320 ._Qm :(go
B) 10 , | TpraOA
/) 20 | Mokl ~\m2:20 @m2do

(D) 25 |
) W-Yohdl~ (02 20 Q-0

S

(E) Answer not known

8@ UsSETall Weafgen
Qedprer.  eeuiQeur

B®seb?
@) 0  ® 10
©) 20 ©) 25

(B) eflanL @glﬂmaﬁ]d}mm

147. Find the length of the longest pole that can be placed in a room 24 m

long, 18 m broad and 16 m high. d“_ CARTCIRIU

(A) 14m o " ®B) 24m ;ﬂﬁhﬂwf—z}s

AP 34m D 44m =~ |0SE

(E) Answer not known : | B A

24 8 erd, 18 5 wisab LHOL 16 B 2wrD 26w G Slopdgdr @ass )
Webs Bst Quilu sbQuier Sard ererer?

&) 148 : (B) 248

C) 34 (D) 48

(E) e&le Qzfwelcvene

"
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i 176. The LCM of th numbers 18 6 times their HCF. If the HCF is 12 and one
of the numbers is 36, then find the other number.

<P 24 W, L 62 22
' 2
- VE- SRV RN

(E) Answer not known

B cansaflan 8.8.0 oarg S.Qu.ar-efar 6 wLmsTEW. 8.Qu.eT 12 wWHYID e

et 36 erafled, wHCHT eTERTENENTE HTETS.
(A) 24

(B) 34

) 12

D) 6

(E) e Qsfwecrene
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188. The H.C.F. of two numbers is 11 and their L.C.M is 693. If one of the
number is 77, find the other 9(/1)( ~ A O |

@ 79 ® 88 X499

/fC? 99 ~ (D) 77

* (E) Answer not known

' @@ erargeflen 5.Qumes 11 whHmiw aupBlen 8.8.0. 693. @i eaw 77 e,
LOCDM® eTewr cTemar?
A) 179 ‘ (B) 88 .
(©) 99 D) 77

(E) oo Qgfuefimane

’

189. A merchant has 120 ltrs and 180 Itrs of two kinds of oil. He wants to sell
oil by filling the two kinds of oil in tins of equal volumes. What is the

greatest capacity of such a tin? - \\cfo} (2 1\80) |
@) R ‘ _ : o | \2o, 19
10 ltrs ' =
, | (B) 30 ltrs 2,y
/5(.)) 60 ltrs : D) 901trs - V(52 bo

(E) - Answer not known

eflwrunf @meur Qran® euerswrer cramGlamusemer wanGw 120 o). 180 & aar
@@ 561)'1'518561?]61) DOUSZIETETTT. &I oyemey QameirL 5Goéuﬂsi)' .,__9455 @ rair(H
erantlerrusamer Flrud ofpns efmw e, seer Gamem@pd oHsul s Q&ne‘rrmm@

eTear? _ -
(A) 10615] ' (B) 30 &
© e . (D) 90

(E) o9ani Qsfluefdeene
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0. F13+2%+3% ¢+ | 3 _ .
19 BT =72900 then find 149+ 3+..+ K. Jpaoo

A 220 ®)
370 ~ nT0
270 N
AP D) 170

(E) Answer not knowp
1°+2°+3% + ..+ K3 = 79900
A) 220

(C) 270 .

B) oot Asflucisma

orafled, 1+ 2+ 3+ ... + K ufen wdiiy snems.

(B) 370
(D) 170

. . . g " S‘ .
191. In the series 2, 3,5, 9, x, 33, v, 6 what is the value of x + 37

\)\"L —

@ 65 R OISR B 7 AL
TN S VO P % -9

©) 175 I % s . B

(E) Answer not known

2,3,95,9,x, 33, y, ... aap Ggmfler x +y e WAL eremen ?
, (A) 65 (B) 72

© 7 - (D) 82

(E) &ler Qgfwelldvens '

192. When we write AZBYCX ..... YBZA how many consonants will appear to
the left of the vowels? ¥

(A) 7 7 - (B) 8

. /?C) 9 (D) 10
- (B

) Answer not known

AZBYCX ..... YBZA aapeuny awgd Cuig eude 2 W0rwsdic Qs
LUDLb Si(HEleD auTSHsenlg o INQATPES SIONTE ET(PSSISHET TESSMEN ?

Q) 7 | B (B) 8
© 9 ‘ (D) 10

(E) efleni @g,rﬂu.laﬁlsbemu
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.

her Raman is the only son of my l

193. If Rameela says, “Ragavi’s fat _ . |
o is the sistey of |

. = . . h
father-in-law Ramanathan”, then how 18 Ramani, W

' OAOOY
Ragavi, related to Ramanathan? R %/ Ran
(A) Wife (B) Sister | Rﬁl\h N
' ) Grand Daughter \
(C) Daughter /(P) Q@_\,\, %M\
(E) Answer not known

TBer snmiensufle), “erang LMDEITTTET [FITLD T & 6T @Gy a&ETTar T Tr&el g, |
shens”, wenfl, Treedulen sCarsfl erempmed FLoat] JIOETTSENSS oreine 2-Dey? ’
(A)  wenared 1 (B) &Gansif |
(C) waer (D) @LJ,_{ESQ

(E) ofer Qsfwedvena

194. 3 men and 4 women can earn Rs. 3,780 in 7 days. 11 men and
13 women earn Rs. 15,040 in 8 days. In what time will 7 men and
',’:,Iial: Vo o

9 women earn Rs. 12,4007

_ A 1\1A0 M
(A) 9days A (\&3??—1\:0 ) \o (B) 12days \\X+\%y 1%" -\3t0
/(E) 10 days ‘ﬁ"r - (D) 11.days W“j’; bo
(E) Answer not known S WX LY SA0 ~ = |80

3 yamsar wpmb 4 duansdr 7 prearsafie 6.3,780 surdsdeamant. 11 yamser |
wpgd 13 Quanser Geips 8 prasefle .15,040 . sibLindsfempent erafld
T amsar wpmd I Quemrser Caibg) eTeueuerey Hrataafl® e5.12,400 sbumdliiui?
A 9 BTGSeI (B) 12 BITET&ET

(C) 10 prérger | | (D) 11 BTGTE 6

(E) ol Gpflwelicrena

SN
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the principal Rs.1g
195. For 10,000 the pate qf : : .
Find the difference between G 1 e of interest is 15 p.a. for 3 years

TandSL o Ol

(A) 70.86
(B) 708 e%( 2 (tst®)
A TS | @) 778} = Dbt oo K )7
(E) Answer not known NS A NS
| =) 108.18

<50 OsTos m. 10 ;000 <yarg 15% e el iguld 3 O EHEES
S &@GD sl (H) QUL 1y (&b, ;_r,snﬂ QUL ig&E LD

(A) 70.86

Qe Guuwrer esHwmsd srams.
(B) 708

(C) T708.75 D) 775

(E) ofeni QsNweldana

196. A person takes a loan of Rs.2,000 at 6% simple interest. He returns

Rs.1,000 at the end of one year. In order to clear his dues at the end of |
2 years how much h 1d pay? '
e would pay 206p X244 40

) Rs. 1,240 X (B) Rs. 1,180 ) 4 ¢
(C) Rs.1,1 | (D) Rs. 1,200 Ty )W-O
(E) Answer not known -
| LRI \240

emaui m. 2,000 o 6% g;eaﬂsuuq.a;@ SLE QUTRIGHADTT. @F e (g)tq_aﬁ]m

m. 1,000 g Hrud CQeqsmdont aaller et ss_maer QuerLmd e
Wi eled (P(PeUFILTE (P& aeucuare) UeTems Qsgss CeuammHib 2

A4) . 1,240 (B) en. 1,180
(C) em. 1,120 (D) e 1,200

(E) ofenL Qg,lﬂu_mﬁ]d)mw
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197. Vignesh borrows Rs.10,000 for 2 years at 4% p.a, 31mple mtere
anjay at 6% p.a. for 2 years. Fmd his gain i thi

Jends it to S - S trang o :
" Ot |
— ~ Aty |
@A) 200 AB) 400 \A S 40
o w0 @80
\ 43
(E) Answer not known Yy W 2tk 100@7 by

, : T\ _
a9&Caray 2 c%eﬁo'r@as@éS@ 4% el igeisSEd . 10,000 sLanrrs; Quibpri B,

LIS @S FgpansudlLLb 2 yanheers@ 6% alydissdd samss Qo145
@ist LflLTHPSHD AUBSGS HoL§6 QT PTG 6T OIULD erener?

&) 200 (B) 400
(C) 600 | (D) 800

(E) ofer Qg,rﬂu_ueﬁki)mcv

198. Find the ratio between Ij'{%F and Ii\%l\% 3& tlhl&e r%lin\lﬂl)ers M\nd{lS
_AD) 1: 91  \ (B) 13: ST Oy N.Obm\zv
(© 91:10 D) 7:13
(E) Ahswer_ not known |
7 wpgid 13 8w aersaien B8.0uT.e wHHID £.é].m‘ e cffssmss SIS
(A) 1:91 | (B) 13:7

(C) 91:10 : D) 7:13
(E) oL Asfueioama
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199, Kayal bpught 5

200.

\0

(’

doze
—— "1 eggs. Out of that 45 eggs are good eggs. Express
the number of rotten eggs in percentage

% bo-}S- 1S h/‘:.‘\f Ly
@A) 45% el AN ® 35% _@ 7]
ﬁ) 20 D) 15% ~ 1 Svy,

- (E) Answer not known

sUD O Lgen (yhl'_ﬁml__asas)m eurmifl e, Sifld 45 Wl e ser poe L ser,
arafld> Gs el 1o or_sefien F8aIBEMBE snems.

A) 45% (B) 35%

(C) 25% D) 15%

(E) ofeni Qg,ﬁ]ﬁJ@Slsmesu _

If Sunday = 2, Tygsd_é_ly = 3, Thursday = 2. What is the value of Monday?

\'\‘"/ :
(A) 1 Vowda | | B 2 Vowda: 2.
© 3 - D) 4

(E) Answer not known

| Sunday =.2, Tuesday = 3, Thursday = 2 erefled Monday efletr LI erete ?

A 1 B) 2

. O 3 | D) 4

| (E) o&len Qsflwelerene
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